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' The ﬁgures in the margin mdtcate
~_full marks for the questions.

‘Answer either in English or in Assamese. .
1. Answer, the following questions: ~ 1 ><7=f7
oo A eMRT Tew frml ¢

C{a) What is the value of 'ionic pi‘oduct of '
water at 25°C? '

25°cmﬂﬁawwﬁwwmﬁwm .

(b) Name one reducmg dlsacchande

aﬁﬁmasmﬁmﬁm
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(g} Whlch -one of the following amines w1ll

| (c) Wnte the mathematlcal expressmn of
: " not show carbylamine test ? .

Clausxus-Clapeyron equatlon .. : - o ' _ o ?
W@%ﬂﬁ««eﬂﬁmwaﬁm . I SR w |
fwn : ) CHsNHz .

(i) - CH,CH,NH,

L@ Out of formlc acid and aceti¢ acid which .
(i) (CH;),NH

. one Would you expect to react with -

- Tollen’s reagent? . - I (iv) (CH3)2CHNH2
- T afe e . 2. Answer the following questions - 2X4-8
. (e) Draw the prtmary struetune of protein. 4 . (@) * Write the number of phases and number
oo oIS 5 B it | | . of components present in the following
o : . . s o - system- :
() The Gibbs’ phase ruleis - o - " .wﬁmwmwmmwwxm
v et LD 2 Lk

(i N2(§)+3Hz(é)~v—%,2NHs(g) o
(i) Solution of acetic acid in water

?waﬁmaﬁmm

-fi) F=C-P+1
(i) F=P-C+1 )
(i) F=C-P+2
(i =P-C+2 - - (b) How does. the molar conducthty of a
) F=FP , C+2 . -  weak electrolyte vary w1th dllutlon'v‘
| | Explain. :
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(g) Whlch one of the following . amines w1ll

‘ {c) Wnte the mathematlcal expressmn of ‘
’ " not show ¢arbylamine test?

Clausms—Clapeyron equatxon - : . o ' , ?
'W@vﬂmﬁaﬁ%mﬁmww 4 I I W mﬂﬁ%‘m "
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(i) - CH,CH,NH,

L@ Out of formlc acid and acetic acid which .
(i) (CH,;),NH

- . one would you expect to react with -

© Tollen's reagent? R Y (cH ),CHNH,
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- (e) Draw the pqmary strueture of protein. | 1 . (a) Write the number of phases and number
aif5ea eyl o5 B it | . of components present in the following
o T A S o . system :
() TheGibbs’phaseruleis - S ) .Wﬁmwmmmm%mmm .
ey AT Lk -

() Na(g) +3H2(9) 2NH3(9)
(ii) Soh_mon of acetic acid in wai;er

?ﬁmﬁmm—m

) F=C-P+l
i) F=P-C+1 e S
i) F=C-P+2 |
i P C - - ~ (b) How does. the molar conductmty of a
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. Wtﬂrq&ﬁmﬁm}aﬁwﬁaﬁ@tﬁm
- TN T :

(c) How would you convert p—mtrobenzoyl
. chloride to p-nitrobenzaldehyde ?

pﬂﬁﬁwmpﬁm_

| ﬁ?ﬁ@aﬁ?ﬂmaﬁm?
(d) Amlno acids have exceptlonally low K,
and K- Values Why ?.

’L‘lﬁﬂ‘ﬂWK WK@W«Q@WW‘X

3. ‘ Answer the followmg questlons (any three)
o ~ 5x3=15

'-wﬁmam%mﬁm (f:?zwmf%ﬁar)

(a) What is tertiary structure of protem ?
Mention different types of interactions
involved in tertlary structure of protein.

1+4=5-

: aﬁ«wm%?aﬁwww&
'%w\mmw%mﬁm? ‘

-~ . (b) Draw and explain the phase diagram of
water system. Why is the phase diagram
of :-water system. different from that of
other one component system.

| | 2+2+1=5
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: Wm@%ﬁ%WWIWW
. ﬁm\wwwmﬁawﬁw

(.

. fructose. -

| zﬁs’wwﬁ’moﬁsﬁmmwm

,G1ve five points each of similarity. and

d1381m11ar1ty between glucose and :

B ,ﬁ'am

().

;Explaln the pnnmple of conductometnc '

t1trat10n ofa strong a01d vs. strong base.

WWWl

‘At 25°C, the spemﬁc-c‘ohductance .of
. carefully distilled water is 58.0x107 Sm’!

and the A°m values for H* and OH- ions .

are 349.8x10 Sm2mol-! and 198.5x10%

Smmol! respectively. Assuming that A
differs very little from A°_, calculate the
ionic product of water at 25°(}

 25°C Tamers ARAI siifes F 1T R
ARSI 58,0x 1077 Sm! ISR H* SFOH-

SR A° -3 W TAG 349,810 Sm2mol!
% 198.5x10* Sm2mol! | T A W A°, I
T (ST ARG 21T A (ST 25°C Tawore

ST SRR QR S SR
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’ : 4. Answer the followmg questlons (any three)

10%x3=30

| wﬁmmﬁawm (ﬁmmrﬁ%ﬁw

(a)

Discuss how ‘the pnmary structure of

peptide is determined.

R

(b)

()

@) - Explain a method of .conversion of
glucose into arabinose. R

mw«ﬁ%«wmﬁaﬁﬂﬁ%
[ AL

y(ii) ‘How is benzenedlazomum chloride
~ prepared ? How is it converted to
benzene, phenol and p-hydroxyazo
benzene? - - 2+3=5

mﬁﬂmim‘ﬁmﬁmivﬁsmﬁ@‘
731 277 2% (qARA, e wi% p-

' gRE e R Fee =i

Discuss the mechamsm of the following
conversions : o 5x2=10

waTe fal PRGN fErmiffE e 1 8
(i) Benzaldehyde to cinnamic acid

@WWW@W
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Cﬂvﬁﬁmmﬂﬁ?ﬁmﬁmﬁﬁwmw |

@

' (e)

{u) Acetam1de to methanamme

aﬁmﬁwﬁzmﬁﬂta

.What is eutectlc point ? Draw and

explain the phase diagram -of Pb-Ag

_ system. Write two uses of eutectic.

mixtures. | 14(3+4)+2=10

'i@mﬁﬁﬁ?%ﬂgwmﬁam

wwliﬁmmﬁm@twml

(1) What is meant by transport number
of an ion ? Explain the method of
its determination by moving
boundary method. - 2+5=7

. R AR T B IS 2 BN
| ,ﬁﬁﬁﬂﬁﬁmmﬁmﬁcﬁwaw
|

(i) A moving boundary experiment was

‘carried out with 0.01 M solution of -
KCl (spec1ﬁc conductance = 1.29
Sm!) using CdCl2 as the indicator .
electrolyte. A current of 5.21 mA -
was passed through the tube of
0.230cm? cross-sectional area. It
was observed that the boundary
moved through 4:16cm in 1h.
" Calculate the mobility of K* ion.
- \ ‘ .3
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- CcdCLF = Rge Rotg e avgw
- 3 0.01 MNpeR KCIwR (RRE Rzt
= 1.29 Sm!) GBR.be ARF A
oo 11 (R ASTHIOS 0.230 cm?
 CREIRR A 5.2 1 mA RIS I
- e | 3R T ¢ oo AR
4.16 cm TS T2 | @2 SURAR RIS
K* SR oeral ot | |
(ﬂ Define critical solution temperature
) "What do you mean by upper critical
solution temperature and lower critical
solution temperature ? Explain the
- phenol-water binary system. Explain the
. effect of impurities on critical solution °
. temperature. . 1+2+5+2 10

qumaﬂ\wﬁm@a‘@ﬁw&Rw |
- Baso! Wi R I w9 Sasel 3o R et e
R RS slieege o Y 3 | 2eifdes wet
Bador GoiTe TSR Ao Y A | |
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